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10x1=10"

b Lhotse the correct Annwer :
! WHICH 61 tho following nuimbors 18 nof §’HH’1"=')- . & 71

#Hp o 63 by 6 Gl . '
/ Phe tumbior fifBal is divisible iy | 0 s 4y All alatiiass ,

i) 2 unly by 3 Only i .'5,'_ ) ,I‘ 4‘ i ane LOM is 1200 3
g Which of the following cannot be the e of fwo numoers Whoso 3

a4y 60 by 40 ¢y 80 dg 2V
4 100G ¢ in ogunt to

a) 1 ls-;f-.; :;._: kN by 10kg6g c) 100 kg bg iy kg.(joog
i Every diy 1601 of water is sprayed in the Garden, waler Sprayed inf a week »‘S BRI

ay 1001 by 1000 ¢ c) 95017 2 AR
£ 3 weoeks : wuass o (JOYH

ny 21 by 7 c) 14 d)© 28
fo 2V4 yoars s equal 10 e months

“y 25 by 30 c) 24 d) 5
B, Discount is subtracted from - emmmeveea- 0 get S.P

gy Mp by C.P c)gmboss d) Profit
#.  There is no profit or loss when

a)y CP=gp by CP=8P W c) [ CP<S.P d) M.P = Discount
10, 1 all angles of a triangle are less than a gight angle, then it is called ---------

a)  An obtuse angled Triangle , b) A right angled triangle

c) An isosceles right angled Triangle d) An acute angled triangle _
il Fill in the Blanks, 5x1=5
11. . Tho numbers 29 and «eee-es are twin Primes,
12,  If the L('M of 3 md 9 is 9, then their HCF ig ~-cmeameame
13, 40 mix 5 = =it . ~~-m/
14. Profit = m!lmg Price « cemmeesaveccenn
15, Sum of three angle is ~--eermeemae
. Match the following. 5x1=5
16, 600 ml + 400 m/ - Marked price - Selling price
17, 50 kg + 100 g - Equilateral triangle
18.: 07.45 ' & - 500¢g
19. Discount - 11
20, Al sides are equal ~  Quarter to 8

PART - I
IV. ~ Answer any 10 of the following. Q.No.35 is compulsory, 10x2=20
217 Wiite the smallest and the biggest two digit prime number.
22 Find the HCF of the number 40 and 56 by division method.
23,7 Find the LCM of set of numbers 30, 40, 60 using Prime Factorisation method.
24 A flag pole. Is 5m 35cm long. What is the length of the flag pole in cm?
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- t A 2 aof water in o botta, Her frengd dejnk :‘ "
25 Geetha broug Wht 2 ¢ and 250 mi fwil ¢ 300 1, o
is remaining in the bottla? | |
36 seconds fiom 12 hous 18 o 46 .

. ‘ lowy UIGH of .,

tract 10 howrs 20 minule BECGH
an bought a jeans pant for & 7A0. it did not fit hime He sold it 1o hig 2 Hand for ¢
~ 10, Fing {14

of fogs 1o sugan. g

s to sall dat a prafit of ¥ on 000 Nh 3
L1

* 5 q AN Y { ““ '\\\H”- »
UEY ax b bl HU, UGUIU
il h } A Qar W (h AN h! u} l h‘}

%a‘tﬁ’: \)‘\:f‘:;!}:} ’Lﬁ,;\ e \1‘ i! 3 ir ar !‘\
1 w300 o ;);l‘fl‘;. bl aha ¢ i
{ N\ J IRV ]! f[” (J”t
j ‘-(,;t)

29, Amutha Marked her home product of Pickle as )
pack, What was the discount offered by har por pik R g
30., Can a Triangle be formed with the angles 909, 659, A59 1f it is Possible thef mention he typ.,
of the Triangle. ' sl
31 1am a closed figure with each of my three angles is 60° Who am 17
32.° Convert into a Tree Diagram (9x5) + (10x12)
33. Convent the | given Tree Diagrams into numerical Expressions.
k\
& G2
P SN
) G (0 2
34." Convert the Algebraic expression (xxy) - {y X z) into tregsdiagrams.
35. Conveﬂ 5200 seconds into hours.
PART - HlI
V. Answer any five of the following questions. Q.No. 43 is compuisory. 5x3=15

36.. 1am a two digit Prime number and the sumof my digits is 10. | am also one of the Factors of 57.
Who am I? '

37., What is the Greatest possible volume of a vessel that can be used to measure exaclly the
volume of milk in cans (in full capacity) of 80 litres, 100 liters and 120 litres?

38. /In a school, 200 litres of Lemon Juice is prepared. If 250 m/ lemon Juice is given to each
student how many students get the juice?

39. x lf 11® of January 2018 is thursday what is the day on 20" July of the Same year?

40. -Somu bought a second hand bike for 28, 000 and spent I2000 on its repair. He sold it for
- 330, 000 find his profit or Loss.

41.% A man buys a chair for I1500. He wants to sell it at a profit of I250 after making a discount of
<100. What is the Marked price of the Chair?

42. _Convert the following numerical Expressions.
[(4x3)+2] + [8x(5-3)] in to Tree diagram.

43.~.A man bought 75 mangoes for 300 and sold 50 mangoes for 300 if he sold all the mangoes

- at the same Price, find his Profit or Loss.
PART - IV

VL. Answer any One of the following. 1x5=5
44. a) Draw a line segment AB = 7cm and mark a pomt P on it draw a line perpendicular to the

" given line segment at P.
(OR)

b) Draw a line segment AB= 8. Scm and mark a Pomt M above it. Through M draw a line

Parallel to' AB.
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